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Part I Listening Comprehension (35 points)
Section A [7×1’=7 points]
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Section B [8×1’=8 points]
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Section C [10×1’=10 points]
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Section D [10×1=10’]

26.The students in Akira Miyake's study were all majoring in
A. physics.
B. psychology or physics.
C. science, technology, engineering or mathematics.

答案：C

题干翻译：Akira Miyake 研究中涉及到的学生都是什么专业的？

解题思路：本题考查的是参加某项研究的学生的专业。本题需要注意的是专业名称相关的信息。

答案原文：
LISA: I got a little confused at first about which students the study was based on. They weren't actually majoring in
physics - they were majoring in what's known as the STEM disciplines. That's science, technology, engineering
and ...

答案解析：当听到 They weren't actually majoring in physics 可排除 A 选项与 B 选项，随后根据 they were
majoring in what's known as the STEM discipines. That's science, technology, engineering and... 可确认 C 选项
为正确选项。

27. The aim of Miyake's study was to investigate
A. what kind of women choose to study physics.
B. a way of improving women's performance in physics.
C. whether fewer women than men study physics at college.

答案：B

题干翻译：Miyake 的研究的主要目的是为了调查什么？

解析思路：本题考查的是某项研究的主要内容。

答案原文：
GREG:But what the researchers wanted to find out was basically what they could do about the relatively low level
of the women's results.

答案解析：当考查某个主题的具体内容时，听力原文与选项内容可能是表意相同，但用词与句式都有相当
大的差别，因此大家在预先阅读选项信息时，注意记得记住选项的大致含义，从而在听到对应信息时，可
快速选择出正确答案。这道题中关键点在于 what they could do about the relatively low level of women's results，
据此可知正确答案为 B 选项。

28. The female physics students were wrong to believe that
A. the teachers marked them in an unfair way.
B. the male students expected them to do badly.
C. their test results were lower than the male students'.

答案：B

题干翻译：物理系的女性学生都错误地相信下列哪一项观点？
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解题思路：本题考查的是某个观点。

答案原文： LISA: Right - now let's see if I can remember ... it was that in the physics class, the female students
thought the male students all assumed that women weren't any good at physics ... was that it? And they thought that
the men expected them to get poor results in their tests.
GREG: That's what the women thought, and that made them nervous, so they did get poor results. But actually they
were wrong ... No one was making any assumptions about the female students at all.

答案解析：根据 the female students thought 可知，此处开始讨论物理系女性学生的观点。当听到 the female
students thought the male students all assumed that women weren't any good at physics 时，可记下该信息。随后
当听到 That's what the women thought 以及 But actually they were wrong 时，即可确认该信息是题目考查的
信息，据此可知 B 选项正确。

29. Miyake's team asked the students to write about
A. what they enjoyed about studying physics.
B. the successful experiences of other people.
C. something that was important to them personally.

答案：C

题干翻译：Miyake 的团队要求学生去写什么内容？

解题思路：本题考查的是书写的某项具体内容。

答案原文: LISA: Anyway, what Miyake's team did was quite simple - getting the students to do some writing
before they went into the physics class. What did they call it?
GREG: Values-affirmation - they had to write an essay focusing on things that were significant to them, not
particularly to do with the subject they were studying, but more general things like music, or people who mattered
to them.

答案解析：根据 what Miyake's team did was quite simple - getting the students to do some writing 可知，此处开
始讨论Miyake 团队要求学生写的具体内容。随后根据听到的 they had to write an essay focusing on that were
signficant to them 与 not particularly to do with the subject they were studying 可排除 A 选项。随后根据
general things like music, or people who mattered to them 可确定 C 选项为正确选项。这道题需要注意的是 B
选项与听力原文中提到的 people who mattered to them 的信息对应，此处 people who mattered to them 是作
为例子来解释说明 significant to them 。因此本题考查的不仅是信息的抓取能力，还有信息重要程度的辨别
能力。

30. What was the aim of the writing exercise done by the subjects?
A. to reduce stress
B. to strengthen verbal ability
C. to encourage logical thinking

答案：A

题干翻译：研究主体所进行的写作练习的目的是什么？

解题思路：本文考查的是所采用的研究方法的目的。
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答案原文：
LISA: Right. So the idea of doing the writing is that this gets the students thinking in a positive way.
GREG: And putting these thoughts into words can relax them and help them overcome the psychological factors
that lead to poor performance.

答案解析：当听到 the idea of doing the writing 时可知此处的开始讨论让研究主体进行写作练习的目的。之
后提及的 putting these thoughts into words 实际上是 writing exercise 的同义表达，因此当听到 can relax
them 和 help them overcome... 时即可判断出 A 选项为正确选项。

31.What surprised the researchers about the study?
A. how few students managed to get A grades
B. the positive impact it had on physics results for women
C. the difference between male and female performance

答案：B

题干翻译：关于研究内容，让研究者感到惊讶的是什么？

解题思路：本题考查的是让研究者感到惊讶的内容。

答案原文：
LISA: But what the researchers in the study hadn't expected was that this one activity raised the women's physics
grades from the C to the B range.

答案解析：当听到 hadn't expected 时，应迅速反应出此处与 surprised 同义，此处开始讨论让研究者感到惊
讶的内容。当听到 rasied the women's physics grades from the C to the B range 时，应迅速归纳这句话显示的
是一种积极的影响，从而可判定 B 选项为正确选项。

32. Greg and Lisa think Miyake's results could have been affected by
A. the length of the writing task.
B. the number of students who took part.
C. the information the students were given.

答案：C

题干翻译：Greg 和 Lisa 认为 Miyake 的研究结果会受什么影响？

解题思路：本题考查的是影响 Miyake 的研究结果的某种因素。

答案原文： GREG:Mind you, Miyake's article left out a lot of details. Like, did the students do the writing just
once, or several times? And had they been told why they were doing the writing? That might have affected the
results.

答案解析：

这道题问的是可能影响 Miyake 的研究结果的某些因素，题目中的隐含前提即为 Miyake 的研究结果有存
疑的地方。因此当听到 Miyake's article left out a lot of details 时，应意识到此处会继续分析影响研究结果的
因素。随后当听到 students do the writing just once or several times 和 had they been told why they were doing
the writing 时，可排除 A 选项与 B 选项。尽管 C 选项在听力原文中没有直接给出，但是所有选项中与
原文最相关的选项，因此 C 选项为正确选项。
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33. Greg and Lisa decide that in their own project, they will compare the effects of
A. two different writing tasks.
B. a writing task with an oral task.
C. two different oral tasks.

答案：A

题干翻译：Greg 和 Lisa 决定在他们自己的项目中，他们将会将什么影响因素进行比较？

解题思路：本题考查的是 Greg 和 Lisa 在自己的项目中将影响因素进行比较的内容。

答案原文： GREG: So anyway, I thought for our project we could do a similar study, but investigate whether it
really was the writing activity that had that result.
LISA: OK. So we could ask them to do a writing task about something completely different... something more
factual? Like a general knowledge topic.
GREG: Maybe ... or we could have half the students doing a writing task and half doing something else, like an oral
task.
LISA: Or even, half do the same writing task as in the original research and half do a factual writing task. Then
we'd see if it really is the topic that made the difference, or something else.
GREG: That's it. Good.

答案解析：这道题中可将 project 作为信息定位词。当听到 for our project 时，应立即反应出此处开始讨论
Greg 与 Lisa 的项目。当听到 ask them to do a writing task about something completely different 时，注意不
要将其对应到选项 A，因为此处听力原文中的 different 是指与 Miyake 的研究中的写作训练的区别，而非
Greg 与 Lisa 的项目中提供两种不同的写作任务。随后当听到 have half the students doing a writing 与 half
doing something else, like an oral task 时，可对应到 B 选项，但根据随后的 Or even 可知，B 选项被否定。
随后听到 half do the same writing task in the original research 与 half do a factual writing task 时，可知这里讨
论的是两种不同的写作内容，因此可对应到 A 选项，然后根据后文中的 That's it. Good 可确认 A 选项为
正确选项。

34. The main finding of Smolinsky's research was that class teamwork activities
A. were most effective when done by all-women groups.
B. had no effect on the performance of men or women.
C. improved the results of men more than of women.

答案：B

题干翻译：Smolinsky 研究的主要发现是指班级团队活动应以下列哪项方式进行？

解题思路：本题考查的是 Smolinsky 研究的主要发现。可将 Smolimsky 作为定位词。

答案原文：
LISA: And there was another article I read, by Smolinsky. It was about her research on how women and men
perform in mixed teams in class, compared with single-sex teams and on their own.
GREG: Let me guess ...the women were better at teamwork.
LISA: That's what I expected, but actually the men and the women got the same results whether they were working
in teams or on their own.
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答案解析：当听到 by Smolinsky 时可知，此处开始讨论 Smolinsky 的研究内容。随后当听到 Let me guess
时要注意这里表述的内容并非 Smolinsky 研究的实际内容，而是说话者的猜测。当听到 the men and the
women got the same results whether they were working in teams or on their own 时即可选出 B 选项。

35. What will Lisa and Greg do next?
A. talk to a professor
B. observe a science class
C. look at the science timetable

答案：A

题干翻译：Lisa 和 Greg 下一步将会做什么？

解题思路：本题考查的是 Lisa 和 Greg 下一步的计划。此处可将 next 作为定位词。

答案原文： LISA: That shouldn't be difficult. Right, what do we need to do next? We could have a look at the
timetable for the science classes ...or perhaps we should just make an appointment to see one of the science
professors. That'd be better.

答案解析：当听到 what do we need to do next 时，即可反应出此处开始讨论 Lisa 和 Greg 下一步的计划。
随后听到的 look at the timetable for the science classes 时，可对应到 C 选项；当听到 or perhaps we should
just make an appointment to see one of the science professors 时可对应到 A 选项。随后根据 That'd be better
可知，A 选项为正确选项。
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Part II Banked Cloze（10 points）[1×10’=10 points]
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Part III Reading Comprehension(40 points)

46 Almost all companies trying to develop new products and creating new jobs have to_____．几乎所有想要开
发新产品和创造新工作岗位的公司都不得不_____.
A) persuade the banks to provide long．term finance
B) rely on their own financial resources
C) borrow large sums of money from friends and relatives
D）depend on the population as a whole for finance
A)说服银行提供长期贷款
B)依靠他们自己的财政资源
C)从亲戚朋友那里借大笔的钱
D)依靠广大民众来筹款
【解析】 D。细节题。根据题干关键词“develop new products andcreate newjobs”定位到第一段第三句，

从朋友及熟人那里筹款的可能性是很小的，而银行只愿提供短期贷款，不愿提供长期贷款，所以 A项和 C
项错误。接下来的一句提到公司要发展生产，不得不依靠广大民众，从而得出 B项错误。故答案是 D项。
47 The money，which enables these companies to go ahead with their projects，is____使这些公司能够继续进

行他们的项目的钱是_____。
A) raised by the selling of shares in the companies
B) repaid to its original owners as soon as possible
C) raised by putting into circulation of the savings of individual overseas
D) invested in different companies on the Stock Exchange
A）通过销售本公司的股票筹集的
B)尽快偿还给它原来的主人
C)通过把海外的个人存款投入流通而筹集的
D)投资到证券交易所上不同的公司
【解析】 A。细节题。此题没有明显的关键词，但可以根据题意倒推出，问的是所需资金的来源。文

章第一段倒数第二句提到：公司通过股票交易所发行本公司的股票来筹集资金，所以 A项符合题意。此段
最后一句“be that home and overseas”说明 B项只提到一部分 overseas，是不全面的。第二段第一句说明这些
钱不可能尽快回到当初买股票的人手中，而是通过股票经纪人把他手中的股票卖给正准备投资的其他股东，
故 C也不正确。D中的 different companies也与文意相反。故 A项为答案。
48 The Stock Exchange makes it possible for the government, local authorities and nationalized industries _____

证券交易所让政府、地方机构和国有企业可以_____。
A) to make certain everybody saves money
B) to borrow as much money as they wish
C) to raise money to finance new developments
D) to make certain everybody lends money to them
A)确定每个人都存钱
B)想借多少钱都可以
C)筹钱来投资新的发展
D)确定每个人都借钱给他们
【解析】C。细节题。根据题干关键词“government，local authorities and nationalized industries”定位第三

段最后一句：“因此，政府、地方机构和国有企业常常需要借钱来支持重大开支，他们也需要去证券交易所。”A、
B、D项都不正确，故选 C项。
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49 All the essential services on which we depend are _____. 我们依赖的所有的重要服务_______。
A) run by the Government or our local authorities
B) in constant need of financial support
C) unable to meet the needs of the populations
D) financed wholly by rates and taxes
A)是由政府和我们的地方机构经营的
B)需要持续的财政支持
C)不能满足人们的需要
D)完全由利率和税收支持
【解析】B。推理题。根据题干关键词“services”定位第三段首句“Many of the services needed both by

in．dusty and by each of US are provided by the Government or by local authorities”用的是 many而不是 all，故
A 项错误。第三段第三句的前半句“require continuous spendin9”则证明 8 项 constant need 正确，后半句
“requiring more money than is raised through taxes alone”说明 D项 wholly是错的。原文并未对 C项做出任何
说明。故选 B项。
50 When the savers want their money back they________当股东想要收回资金时，他们______。

A) transfer their money to a more successful company
B) have to borrow money from other people
C) put their shares in the company back on the market
D) go to the company to take it back
A)把他们的钱转移到更成功的公司
B)不得不去向其他人借钱
C)把他们持有的公司股票放回市场
D)去公司把钱要回来
【解析】 C．推理题。根据题干关键词“savers want their money back”定位到文章第二段，可知当股东

需要收回投资时，不是到公司要钱，而是把股票放回市场，通过股票经纪人把它卖掉。A、B、D项为混淆
项，所以答案选 C。

51 [D] 词义理解题。在第 1段第 4句中，逗号后面的 regulating moods是对 emotional thermostat的功能进
行解释说明，因此可以推断出选项 D正确。

52 [C] 事实细节题。最具干扰的是选项 A，因为其陈述与第 2段第 2句的陈述有点相似,但是，此长句说
的是大多数人上半夜做噩梦，之后都会做好梦，而不是像选项 A中所说大多数噩梦之后是好梦。而且，
根据本段第 1 句，很明显，选项 C是这一句的近义替换。

53 [C] 推理判断题。本题考査对代词的理解。在第 3段的最后一句中，代词 it应指上文说到的控制噩梦，
及时醒来等做法，因此只有选项 C涉及了其中一个做法。选项 A太泛了，选项 B和 D在文中并无提及。

54 [B] 事实细节题。本题考查根据构词法猜测词义的能力。解题关键是推断最后一段第 3句中 therapist
的意义，在考纲词汇表中，therapy是“治疗”的意思，因此，therapist应该是专门负责某种治疗的医生，
由此可见，选项 B是对原文 seek help from a therapist的近义替换。

55 [D] 观点态度题。根据最后一句可以推断作者认为如无必要，梦还是不要控制的好。做梦会让你早上感
觉舒服一些，因此本题应选 D。
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56 [A] 事实细节题。选项 A与文章第 1段第 2句所述一致，为正确答案。此类题可采用排除法。根据第 2
段第 2句的内容可以知道选项 B所指的只是地壳中的一种.而不是所有地壳。选項 C与文章第 1句的内
容不符。选項 D的主语应该是地壳和上层的地幔，不仅仅是地壳。

57 [C] 推理判断题。此题可定位到第 1段倒数第 3句。题干中的 15 plates是原文该句中的宾语，且该句
的谓语中心词是 consist of(由......组成)，题干的谓语是 are formed from，这意思一致，但题目用的是被
动语态。表明答案可从原文该句的主语得到。主语中的 top和 solid并列修饰 part of the mantle。选项 C
为该句的同义替换，故正确。

58 [C] 亊实细节题。选项 C是对第 1段最后一句的同义改写。文章中没有提到选项A中 the crusts move over
mantle 这种现象;选项 B提到的现象在第 2段第 1句才讨论到，与题干无关;文中也没有提到严重变形
的地区是地球的主要地形特征，因此选项 D不正确。

59 [A] 亊实细节题。第 2段主要分成两部分：第一部分谈板块活动的三种形式，第二部分分别举例说明其
中在说明 spreading contacts时，引用了大西洋的例子："The Atlantic Ocean formed like this..."，所以答案
为 A。

60 [C] 主旨大意题。由本文的语言风格和描述内容可以判定这篇文章既不是商业性的，也不是文学性的同
时文中叙述的内容具有科普性质，不可能是太前沿性的，因此 A、B、D三项都不正确，选项 C为此题
答案。

61 定位词：exchange of expertise, between different sports/collaborate, across a number of sports
文中对应点：B段：…and collaborates with scores of others in universities and research centres. AIS scientists
work across a number of sports…
题干中讲到不同体育领域的专业知识交流正好跟原文中跨不同体育专家之间的合作相对应，理解意思
即可容易找到正确答案。

62 定位词：visual imaging/3D, image
文中对应点：C段:…shows off the prototype of a 3D analysis tool for studying swimmers./It collects images
from digital cameras…
通过题干中的视频成像可以很容易找到原文中对应的 3D和成像。

63 定位词：a reason for narrowing/can't waste time
文中对应点：B段：We can't waste our time looking at ethereal scientific questions that don't help the coach
work with an athlete…
需要细读原文，发现此句话所要表达的意思是不在一些飘渺的、不切实际的科学问题上浪费时间，也
就是说要缩小研究的范围。此处不容易找到对应，需要对于句子和题目的准确理解。
TIPS：还可以通过题目中的 research activity研究活动和原文中的 scientific questions科学问题确认所定
位的位置。

64 定位词：AIS ideas reproduce/copying
文中对应点：F段：Of course，there's nothing to stop other countries copying…
找到 AIS ideas定位到最后一段，题干中的 reproduce是复制的意思，之后从文章中发现句子有复制
copying，即可以直接定位。
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65 定位词：Obstacle, investigated/ impact, monitor
文中对应点：D段：…to monitor heart rate，sweating，heat production or any other fact or that might have an
impact on an athlete's ability to run.
题干提到理想成绩的障碍是如何被调查研究的，而读到对应句子之后看到正好是 sensors(传感器)对于运
动员跑步的 impact(影响)进行研究的仪器，而且 obstacles和 impact对应。

66 定位词：Overview, funded support/finance
文中对应点：A段：…finances programmes of excellence in a total of 96 sports for thousands of sportsmen
and women.
finances是解题关键，意思为资助，正好跟题干中 funded support表达了相同的义项，直接对应。而且
之后一句话提及以上项目所提供的服务和建议，可以确信答案。
TIPS：看到 overview就从文章开头和结尾去找。

67 定位词：Calculated before an event/using data，well before a championship
文中对应点：F段：Using data is a complex business. Well before a championship, …
首先通过 well before a championship和文章中 before an event定位到 F段，之后发现后面提及的“竞争模
型”作用就是计算时间和速率，因此内容对应上 calculate，此时可断定答案的位置。

TIPS：
这是一道典型的段落搭配相关信息型MATCHING题目。
有效的解题方法是：
1.浏览所有信息，找出关键字。
2.精读各段首末句，泛读其他语句。
3.对应相关信息。
建议各位考生先做完这种题目，再完成其他题目。
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68 答案：A
文章对应点：C段，…SWAN system now used in Australian national competitions. It collects images from
digital cameras.
解析：digital cameras是对应词。而前一句已经提到该系统已广泛应用于澳大利亚各项全国赛事之中，
而没有提到其他国家，因此可以判断应该只有澳大利亚人在使用。

69 答案：B
文章对应点：D段，…With the Cooperative Research Centre for Micro Technology inMelbourne, they are
developing unobtrusive sensors that will be embedded in an athlete's clothes…
解析：找到相同对应词 sensor，读其前后的句子，发现有Melbourne，断定是澳大利亚人的发明。之后
要特别留心动词 develop运用现在进行时，表示正在开发；而且注意之后的定语从句采用了将来时，所
以可以断定此发明还没有完成，应该属于将来的成果。因此选择 B。

70 答案：A
文章对应点：D段：…AIS and the University ofNewcastle in New South Walesdeveloped a test that measures
how much of the immune-system protein immunoglobulin A…/Since the tests were introduced，AIS athletes
in all sports have been…
解析：非常容易在前面第一句话中找到跟题目 protein tests所对应的词语 a test…protein。之后细读前后
句，发现后面一句话对于此项科技成果的受益者文章中只提到 AIS运动员，即澳大利亚体育学院的运
动员，隶属于澳大利亚，所以应该选择 A。


